


















































CANTRELL, TRUNK, AND WILSON
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Fig. 5 — Flowchart of the executive, subroutine

From Fig. 5, the indices of MRK12 (.) and MRK39 (.) run from 1 to 64 while 112D
and 139D run from 0 to 63. Therefore, it is necessary to add one to 112D and 139D when
computing the time difference IDIF = MRK12 (112D + 1) - MRK39 (139D + 1). The
recycling of the clock is neglected for the moment, and if IDIF > 0, detections from the
SPS-39 are used to update tracks in sector 139D, since they occurred earlier than those in
sector 112D of the SPS-12. The clock recycling problem is solved as follows. The sector
crossing times MRK12 (112D + 1) and MRK39 (I39D + 1) are fairly close together in real
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NRL REPORT 7541
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Fig. 8 — Initiation of new tracks, subroutine NEW12
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NRL REPORT 7841

T™H = AaRK12¢14)
CALL TAEIATH, T, 14,48
KL= (CTZ 1D «(VASCITHIZ 125725
APTCUTY = R3WIT)Y + (L
L4=(T/732D)«(VASCATIZ 13D
4 = ASQATYI/4 ¢« KL/74
IF C1=-3122) 521, 523, 523
21 IF (1) 522, 524, 524
2 A=1e3132
30 TO S24
523 4=11-31%2
524 APT(UT)Y=4e1
I1SECT=1/7123+1
IF C(IFLIP) 6233, 525, 009
325 IF (iAT=-44A01D) 530, 526, 532
526 CALL ALPI1
533 IFCISECT=14) 3542, 1228, 542
542 35 = NT
CALL TDRIPNT, IH)
CALL TIEdC(NS,13ECTD
G0 TO 1S
6322 DELT=1A35(TH =TF(NTH
IFCOELT=16334) 223,513,012
210 DELT=32767=-DLLT
922 IF(DELT=-TFIX) 533,532,532
232 IFCLABSCIRSCATY)Y = VRMLI) 049,072,072
542 IFCLABSCUASCITY) = JaMld) 633,670,670
072 {TCIT)=23
TFCAT)=2
ITALT=JTAWGET+ )
30 TO 3533
893 IF(FULLC) 723,722,729
733 CALL CLTIICIC, 1D
APCCACHI=T5ID
APCCIOY=ASCID)
TCl2¢io»=T1
TCICACH)=TTII(ND
CALL CIENCIC,IS2CTD)
720 CALL TRANOINT, D
QUT(NT)Y ==
AT(NT)=63
CALL TDRIOP(IT,14)
GO T) 1S

S
s2

-
Co====l0 CORELLATIOJI JIT4 T4IS TRACK.
c
340 COITIIUE
Td = 4xK12(14)
DELT=TH=-TTCAT)
IF CDELT) 373,332,332
373 DELT=32767+DE.T
330 CONTINUE
CALL TAZI2(TH, TL I4.NT)
T=Te¢DELT
IF C(IFLIP) 229,393,920













































































